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1. (a) Discuss the significance of Industrialization in India. 7
OR
Discuss the factors hampering the rapid development of industries in India.
(b) Write a detail note on Weber’s theory of industrial location. 7
OR

Explain all the factors relating to production which are affecting industrial location.

2. (a) Discuss the role of public sector in the Indian economy. 7
OR
Explain the main weaknesses of public sector enterprises in India.
(b) What are the main problems of private sector in India ? 7
OR

Write a note on growth and contribution of service sector in India.

3. (a) Examine the importance of small and cottage industries in the Indian economy. 7
OR
Discuss the promotional measures of Government for the SSIs.
(b) Write a note on SIDBI. 7
OR

What are the major problems faced by small scale industries ?

4.  (a) Explain the main provisions of Industrial policy, 1991. 7
OR
Discuss the causes of Industrial sickness.
(b) Write a note on different sources of energy in India. 7
OR

Discuss the measures to solve the energy crisis in India.
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5. Answer the following questions : 14
(1) Regional factors deals with labour cost and cost.

(a) Labour law (b) Transport (c) Raw material

(2) What is the investment limit for small-scale manufacturing enterprises in 2™
October, 2006 ?

(3) Does industrialization solve the problem of unemployment and mass poverty in
India (yes/no) ?

(4)  Which one of the following is the example of localized raw material ?
(a) Water (b) Sand (c) Mineral

(5) Disinvestment deals with privatization. (true / false)
(6) How many public sector units in India in 1951 ?

(7)  Which of the following is reserved for only public sector ?
(a) Agriculture (b) Railway (c) Textile

(8) Give full form of NSIC.

(9) First industrial policy was announced in
(a) 1956 (b) 1980 (c) 1948

(10) Sick industrial unit result in
(a) Unemployment (b) Wastage of resources (c) All of the above

(11) Which of the following is not the conventional source of energy ?

(a) Biogas (b) Solar energy (c) Diesel

(12) Which sector consumed the major share in total consumption of energy from all
sources ?
(a) Household sector (b) Industrial sector (c) Agricultural sector

(13) Write full form of OPEC.

(14) In comparison to the large-scale industries, in the small-scale industries the
employment capital ratio is
(a) High (b) Low (c) Verylow
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